H,:R distributed independently
H,:R. is not distributed independently
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a -2

(2N-1)/3 a -3

(16N-29)/90 a -4
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0.41 0.68 0.89 0.94 0.74 0.91 0.55 0.62 0.36 0.27
0.1 0.72 0.75 0.08 0.54 0.02 0.01 0.36 0.16 0.28
0.18 0.01 0.9 0.69 0.18 0.47 0.23 0.32 0.82 0.53
0.31 0.42 0.73 0.04 0.83 0.45 0.13 0.57 0.63 0.29
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Random-Variate Generation

 Generation of random variables with other distribution

than the uniform one

— Generate continuous and discrete r.v. s with an arbitrary

distribution

Generate Uniform
random numbers

Apply transform

distribution

- Inverse transform

What transform techniques?

- Convolution Method
- Acceptance-Rejection

Random numbers with
desired arbitrary distribution

- »to obtain desired————



Inverse Transform Technique

R (x)
Empirical Distributions
F (x)=R



Xy X,y oo

F(x) = P(X <x)= }f(x)dle—e'/‘x, X =0

A
A A

E(X)=

N |-
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(1

(2
0488 0.226 0.221 0.043 0.055 0.743 0.081 0.68530.364 0.032

27 x>0

f(x)=
() 0, X <0



1
X, =-=In(1-R,
=-2In@-R,)

X, = —%In(l— 0.488) =0.335, x, = —%In(1—0.226) =0.128

X, = —%In(1—0.221) =0.125, X, = —%In(1—0.043) =0.022

X = —%In(1—0.055) =0.028, X, = —%In(l— 0.743) = 0.680
1 1

X; == In(L-0.081) =0.042, X, =~ In(L-0.685) = 0.578
1

Xo == In(L-0.364) = 0.226, X, = —%In(l— 0.012) = 0.006

E(X)=(X,+X,+..+x,)/10=0.217

E(X):%:%:OE
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A B
1| R X

2 0.382000183=-LN(A2)
3 0100680562 =-LN(A3)
4 0508484267 =-LN(A4)
5 0.899105807 =-LN(A5)
6 0.884609515=-LN(AG)
7 0.958454308=-LN(AT)
8 0.014496292=-LN(AB)
90407422101 =-LN(A9)
10 0.863246559=-LN(A10)
11 0.138584551 =-LN(A11)

c |
R bin
01
0.2
0.3
04
0.5
0.6
0.7
0.8
0.9
1

D

X bin

=2

=D2+5L%2
=D3+5L%2
=D4+$L52
=DE+5L52
=06+5L52
=D7+5L%2
=Dg+5L%2
=D9+$L52
=D10+5L52

R bin Fregquency

G

[ H ]

F
0.1 104
0.2 107
03 102
04 85
05 98
06 96
0.7 83
08 96
05 115
1 114

o J KL
X bin  Frequency =MIN(B:B) =K2-K1

0.587410 451 =MAX{B:B) =L1M0D
1174821 228

1.7622311144

2.349642 80

2.937052139

3.524462 36

411187410

4.699284 6

5.2866854

5.87410611



i
1] R
2 0382
3 0.100681
4 0596484
5  0.889106
6 0.88461
T 0068464
8 0.014496
9 0407422
10| 0.863247
11/ 0.138585
12| 0.245033
13| 0.045473
14| 003238
15| 0.164129
16| 0.219611
17| 001709
18| 0.285043
19| 0.343089
20| 0553636
21| 0.357372
0.371838
0.365602
0.910306
0466018
042616
0.303903
0.975707
29| 0.806665
30| 0.991241

GRS

B
X

0.96233

2.2068

05167
0.10635
0.12261
0.04242
4.23386
0.89791
0.14705
197627
140636
3.09085
343021
1.80711

151568
4.06924
1.25512
1.06977
0.59125
1.02858

09833
1.03304
0.09397
0.76353
085204
118105
0.02459
0.21485

0.00288

c D E F| G H | J K L | W
R bin X bin R bin | Freguency Xbin  Frequency  0.0012826 5874106014
0.1 0.5B741 0.1 104 0.587411 451 b BEVS3BBE13 0587410601
0.2 117482 0.2 107 1.174821 228
0.3 1.76223 0.3 102 1.762232 144
04 234964 0.4 g5 2.349842 g0
0.5 293705 05 98 29370583 39
06 362446 08 ] 3624464 a8
0.7 411187 0.7 83 4111874 10
0.8 469328 0B L 4.658285 G
0.9 &2887 0.9 115 5_2BE695 4
1 587411 1 114 5.274106 1
Maore 0 Mare i
Histogram Histogram
40 - 500
450 +5
120 + _ ann 4
100+ _ » 0
> i i e ana 4
£ a0+ I I 2 260 -_|:| Frenuen:y
2 § o
e b L 504
L mi
"1 123 1 H H 0.0
20 + L o e e e L
M A »y : ]
|:| T T T T i T 1 1 1 ﬁ h.\. 6@ "'ﬂ.ﬂ- ﬁ QP
A 6 A o S N
o oF o o o @.f' ﬁfﬁ R
R bin ¥ bin
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0 x<da
F(x)={—2, a<x<b
b-a

1 x>b




zid R AWy x il Al F(X)=(X—a)/(b-a)=R 43l Jai:(3) 5 skl

X=a+(b-a)R
a+b {\b—ﬁ;}:

E(X)= _— V{X)= B

L il aBsill ¢ p o5 g (o g A allae

(1,2)
X =a+(b-a)R =1+R

X,=1+0.488=1.488, X ,=1+0.226=1.226
X,=1+0.221=1.221, X, =1+0.043=1.043
X . =1+0.055 =1.055

:Excel (a,b)

(0,10) 1000
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: Excel alaaiul Weibull Jiig a0 68 G Sildblaa A &

' AAS Excel pladiuls B=2 5 crzé el Jus )8 e 328006 1000 A5 S s

A B c ] E F G H I J | K L M Mo

L| R X R B X Bin R Bin Fraguancy X Bin  Freguency =[JIMEE:B)  =hA2-IA1
2 03820001 =0.5"-LMN(AZ0.5 04 =Nz 0.1 104 011840567 =MAKEE) =N1MD

3 01006805 =05-LNiA3N"05 0.2 =D2+5H%2 02 107 0.238810166
_4 055964847 =0.5"-LN{a4)"0.5 03 =03+5N32 0.3 102 035816178

5 0.B991058=05-LNiASH" 05 0.4 =Da+HHE2 04 85 0477621182
_6  0.8846006=0.5%-LN(AE)0.E 0.5 =D6+FNE2 05 o8 0.507026/146

7 09584643 =05"-LN(ATH'0 5 0.8  =D6+ENE2 06 96 0. 716432120

B 0.01440962 =0 5%-LM{ABN"0E 07 =D7+5MHE2 07 83 0 B3RBAT BT

8 04074221 =0.5"-LNiAg 0.5 0.8  =DE+3N32 08 o6 0,955242 46

10 0 BE3I2466=05"-LNA1D)056 08 =D+ENE2 0o 116 1.074648 14

11 01285845 =0.5"-LNAT V05 1 =01 0+$H32 1 114 1194063 5



A B D E F I K | L M | N
1| R X X Bin R Bin Frequency X Bin  Freguency 0017307 1.104053
|2 0382 0480493 0.1 0.118405 0.1 104 0119405 B7 121196 0.119405
| & 0100681 0757595 02 o231 0.2 107 0.238811 166
4 | 0596484 035941 0.3 0.358218 0.3 102 0.358216 176
6  0.806106 0.16308 04 0477621 0.4 85 0477621 192
6 0BB4E1 0175078 05 0597027 0.5 88 0587027 148
| 7 0958484 0102984 0.6 0.718432 0.6 56 0.716432 120
8  0.014496 1028818 0.7 0835837 0.7 83 0835837 67
8 0407422 0473789 0.8 0056243 0.8 98 0955243 48
|10 | 0.863247 0.191739 09 1.074648 0.9 115 1.074648 14
11 0138585  0.7029 1 1.194083 1 114 1.194052 5
12 0.245033 0.592861 More 0 More 1
13 0.045473 0879012
14 003238 0926041 Histogram Histogram
16 | 0.164120 0672143
16 0.219611 0.615608 140 — _
17 001709 1.008518
18| 0285043 056016 120 ¢ > -
18| 0.343089 0517447 100 + £ I
20 0553636 0384483 a0 4 - I
|21 0.357372 0507193 g
22 0371833 0497317 80 ¢ I
23 0.355602 0508416 40 +
24 0910306 0153276 20 1
25 0466013 0436802 B9
26 042616 0461774 0 & & o %.,&“h W
27 0.303903 0545675 N B A 9 G - L
28 | 0.975707 0.07841 oW RN O
|28 0.308665 0.231758 R Bin X Bin
|30 0881241 0046897
31 0.256264 0583427






